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A line segment that

joins two points on a ,

circle is a chord.
diameter
e« A diameter of a circle
is a chord through the
centre of the circle.
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Perpendicular to a Chord Property 1
e A line drawn from the centre of a circle
that is perpendicular to a chord bisects
the chord. (It cuts the chord into two

equal parts.)

20CA = £0CB =90° A

AC =CB [
[
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Perpendicular to a Chord Property 2
e The perpendicular bisector of a chord ina
circle passes through the centre of the
circle.

‘When 2 SPR = 2SPQ = 90°
and RP = PQ, then SP passes

through the centre.
— _
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Perpendicular to a Chord Property 3
A line that joins the centre of a circle
and the midpoint of a chord is
perpendicular to the chord,

When O i1s the centre and
EP = PF, then
£ OGE =2 OGF = 90", B
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Aren't they
all saying the
same thing?
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Determining the Measure of Angles in a Triangle

Example #1. Determine the values of x° and ye.

Think: What do I know about angle C?

The angles formed at C are 90°.

g Use angle sum of a triangle:

\ Ad 1800 - 900 - 330 = 570

Therefore, y° = 57°

To find angle x:

We know the radii are equal, so AAOB is
1sosceles.

Then,ZOBA =24 OAB

Therefore, xo = _ 33° 7
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